EARAROBEEIERT — 2 N— IBISH —F

2016568350 (H) 3mELR5H

B =tex—x—270>+ ¥5%—®oP

‘ [R1%] & ‘ [REBB] — | & (&) 10000 B

[A~&E£] 17 :2,500,000 § ~ 23 :575,000 37 :325,000 "

4 7% :225,000 5 3&:125,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s N .= ROE— . — . — HEEE (KR)
1B TPYAT4TFX R ‘?9_; S ! 324) AREET
LY IRT4 U5 B:ehlwSN— b FrRalsS
i ft 5 | BEMAE 59.2 1-1 39| — 1 508 | AllISR (KiR)
o7 | TI1RE 5.0 (1/2) o) | EREE
R:772YI7 B:O-LFLFlU-— AINZT 7 — I
= B4 | WUAESEE 59.6 3-3 35.8| — 6 467 | EEEREE (KR)
3 5| Z1 A XTH 57.0 @ 1/2) () | ERAE
L7 R4 vay—-> B:a97 FaM4R H{A RF
8,0, S 4t g | HLEA 59.7 5-5 35.6| — 3 515 | ISR (KiR)
N 1 PR A 57.0 (1/2) (-g) |1iAIE ’
a1 XY ML BiXvayF RE4HES
. o7 | BHATE 59.7 9-9 352 — 9 475 | 1EBHE (KR)
517|8| A7 >R 55.0 (7€) (-1) e i
L:rh—-r BTLIUTZ lEExse]
e LA ERA . - . = IRBE (KR)
618l10| 7N T 1 i O 57.0 5(%)9 &8 %6 2 (5_2;) EHBE
:Medicean B:> 7Y —X> H—L— - JvIN> - Ty— LBERS
= : 4 8 | BERME 1:00.3 7-6 3.1 — 5 468 | BFREZ— (KR
7179|727V T 5 —FR 57.0 2 1/2) (ca) | AR
R:FaT 40 B:FaT7INA =1 — P BN
— AlxRE : - — HEEFE (KR)
gl1l1|Fr7TrT—0 5 e 1.(030).8 1-10 | 36.0 10 &6) HERE U9
LT RIAY T v NS BiALSa TR wpE &=
o # 5 | BIEREEME 1:01.2 5-4 37.3| — 11 473 | HEF _OKR)
EE 2| ¥—Ba7 5.0 2 1/2) (-4) | BIBEZE
L:FATATv— B:L—Iv5> BRT7—L
5 S > 6 | HEE— 1:01.4 4-7 37.4| — 7 457 | PR (BERE)
10/8[11| 7L—7E=Y ) (1 1/4) (+3) | EME—
R:THINKEry b BIINCTFAI—F HET7— L
> 2 it 5 | AR 1:01.4 10-11 [36.6| — 8 431 | BREHBLE (B%FE)
1 3| I =7 55.0 (7E) (+9) /J\Ei“‘}l::‘??r
vV USTy R BAREINLTA > EvobyFo7-4
® I —F—@EBIERL
13—7+—
23—F—
30—7+— 7,6,5,11,(2,4),9,10,8,3,1
43—F— 7,6,5,2,4,9,11,10,8,1,3
[ N3
BB 6 650M 714K 6-7 330M % E 6-6 900M 3EHE 5-6-7 2,320
8 B 6 180F4 5-6 1,160M B & 6-7 790M K31 6-7-5 13,590
7 130M 5-7 70| | B B 6-7 2,150
5 300H

ABICOVWTRDTEEERROODE. TR LIV,




